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1222 Theory of Computation Report (4)

Heisei 18, Term 2-1 (10/4(Wed)O 12/1(Fri))
Teacher: Ryuhei UEHARA (Room I67b, uehara@jaist.ac.jp)

Date: 11/ 8(Wed)
Deadline: 11/15(Wed) 10:50a.m.

Note: Do not forget to write your name, ID, problems, and answers on your report.

Problem 1: Are the following claims correct? If it is correct, prove them. Otherwise, disprove them.
1. n?2 = O(n®). (1 point)

nlogn = O(n?). (1 point)

vn = 0O(logn). (1 point)

According to the Stirling’s Formula, we know n! ~ /2mn (%)n Let f be a function defined
by f(n) =+v2mn (%)n Then, f(n) = O(n™). (2 points)
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